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1. (10 pts) Find all x satisfying |3z — 12| — = < |2z].
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2. (8 pts) If the difference between the average of squares of two numbers and the squarce of

average of these two numbers is 9 then find their difference.
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3. (12 pts) Find all solutions of z satisfying
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4. (10 pts) Which one(s) of the following data may belong to a lincar function and which
one(s) of them can not belong to a linear function? Explain. For those which may belong

to a linear function find their formula.
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5. (10 pts) Rewrite the quadratic function P(z) = (2 — x)(z — 8) in the vertex form P(z) =
a(x — h)? + k. Does P(x) have a maximum or a minimum value at its vertex? Explain.
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6. (10 pts) The vertices of a triangle ABC are A = (-1,3), B = (b,0), C = (¢,0) such
that 0 < b < ¢. If d(A,B) = d(B,C) (1.e. if ABC is an isoceles triangle) and if
arca(ABC) = 7.5 unit?, find the z-coordinates of B and C.
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7. (10 pts) What is the equation of the line which passes through the y-intercept of the curve
y =14+ 2% -z +1 and is perpendicular to the linc y = —% —4,
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8. (8 pts) Complete the table below:
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9. (10 pts) Find the domain of the function
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10. (12 pts) Graph of the function g(z) = 2f(—z) — 2 is given below. Using basic trasforma-
tions sketch the graph of h(z) = f(z + 1) in the blank grid. Show individual steps of the
transformation of the graph of f(z) to the graph of g{(x).
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